= o
A & 0l & AF 2 E A A
20158 S0la LB FESA
SN BRSUD
M NLFE3
&2 ETAIE 2E (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
2SS4 3,105,315 3,198,185 A 92,870
2 17,973
< 77,032
Al 3,010,310
AgE L3 2,972,975 3,080,655 A 107,680
2 17,973
< 77,032
Al 2,877,970
dTAE 23 1,557,596 1,653,846 A 96,250
= 17,973
= 15,658
Al 1,523,965
M EEstW= 164,650 155,400 9,250
201 Let24d] 154,250 146,000 8,250
01 At 22/l 152,450 144,200 8,250
w2 Bt~ E 4| 18,000
OZ=2stu=E Wi 5,000& +2,000& 10,000
OFEHHUE MRES 1,000,000& 52 5,000
OFEHUSEE 2 1,000,000& »3==2 3,000
w2/ & W=t 5,000
ozZeY A 3 HA
50,000& *100H 13 5,000
megsy 129,450
OB 2L LA =Y
31,000& *150Al 2t 4,650
OAE HEstuE ZAZ 124,800
OFZAt 21,0003 = 10H =450 Al 2t 94,500
OB X2 A 16,0003 *4H 450 A| 2t 28,800
OE¥ 150,000& * 103l 1,500
02 22224l 1,800 1,800 0
mEE2= & HAl 1,000
OFEHUSHE HIIL= 100,000 10& 1,000
WA ZH| 800
O&¥E3 W=EZT gl 200,000& *43| 800
203 & 2= X Y| 1,000 1,000 0
03 A Z=XH R =AY 1,000 1,000 0
AR BEstus 2tEs S
40,0003 x5 «53] 1,000
301 getE 4= 2,900 2,400 500
09 HALAHIEA S 2,900 2,400 500
mHAIAHEAZ 2,900
O ¢ 2T B HIH(AIY)
40,000 *10E »23] 800




A 3E2SA
M NLHEG
el MTAE 2E (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OZE3 WEAA &K HE
150,000& x14H x 13| 2,100
303 Z& 3 500 0 500
01 X432 500 0 500
WP FBAAQ HELLR TAI
100,000& *5H *13] 500
405 XHoHF S HI 6,000 6,000 0
01 XL 2 ZFH S| 6,000 6,000 0
WEHESWSE 23 6,000
OL=FYSAIE WA 1,000,000& 32 3,000
odols, 2AXt 600,000 5% 3,000
FESUS 8,000 8,000 0
< 2,000
Al 6,000
201 L2l 8,000 8,000 0
< 2,000
Al 6,000
01 At 22l 8,000 0 8,000
w2 8,000
OANBIEESNE ZAME 8,000,000& 8,000
= 2,000
Al 6,000
2502 2084 54 33,000 33,000 0
= 4,572
< 7,658
Al 20,770
307 glz2tol & 33,000 33,000 0
= 4,572
< 7,658
Al 20,770
02 RIZFE MM E X 33,000 33,000 0
mIFSS0IE T2 08 24U BE8E
Z8) 33,000,000& 33,000
= 4,572
= 7,658
Al 20,770
dE3 02 26,000 31,000 25,000
< 6,000
Al 20,000
201 LBH2E| 13,000 17,000 A 4,000
< 2,000
Al 11,000
01 At 22l 5,000 9,000 A 4,000
w2 A 5,000
(OFS3=N 5,000,000& 5,000
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A 3E2SA
Bu: YE2 s
&2 ETAIE 2E (&)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
02 2324l 8,000 8,000 0
WAl & ZHl =X bl 8,000
O&F =230t SHOIX 22 8,000,000 8,000
< 2,000
Al 6,000
301 et a = 7,000 8,000 21,000
< 2,000
Al 5,000
09 AL HIZ &S 7,000 8,000 A 1,000
ZL230E AL X 2202 J&X A
B 6,000,000& 6,000
< 2,000
Al 4,000
mIES0IS HAEAS L 202 A8 A
SH(AHAI) 1,000,000& 1,000
307 i+l & 6,000 6,000 0
< 2,000
Al 4,000
04 QIZFHALAIH E = 6,000 6,000 0
mEZS0IE 2F (U LAE HE A
6,000,000 6,000
< 2,000
Al 4,000
2 &2st 384,380 303,336 81,044
201 ¢4l 179,880 151,336 28,544
01 At 2t 2l 136,680 121,336 15,344
mBt~=ZH] 136,260
OMS GA 1/39Xt 2ZEYN i
179,300 »200% 35,860
Ost21 ZFHILA 1/389X 2ZEYON 0K
63,0002 *300% 18,900
OMelE WALATEAN F0H
25,000& *1,100& 27,500
ONHE HAULZTEAN FDH
300,000 *40% 12,000
OYRE LAZENH S04 700,000& *30% 21,000
OEHEL AZEYNH HHOE
600,000& x10% 6,000
OEHY AZERN 22 228 &Y
30,000& x500& 15,000
m2I+g 420
OF=EsREe ?IE 2YEFH =
70,000 x6H » 12 420
02 2324l 43,200 30,000 13,200
WAl & ZHl = X bl 43,200




EX: AEsSA
Mz XA S
R MXAE S (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
CEEEEEEFTIENEES
3,000,000 12& 36,000
OCQIHUY B SAIAY SN2
600,000 x12& 7,200
207 I | 50,000 0 50,000
01 gAY 50,000 0 50,000
mXEAES JI2HE =8 50,000,000 14! 50,000
405 KHoHFE S HI 154,500 142,000 12,500
01 XA E B F S| 154,500 142,000 12,500
m] M At ZHH| 154,500
O& FH 1,000,000 = 150CH 150,000
(OE=S=5] 450,000 *10CH 4,500
HEY MBS 624,300 536,456 87,844
201 et 9| 256,500 198, 456 58,044
01 AP 2t 2| H| 16,500 122,256 A 105,756
m B2y 16,500
OXAMAIAE Tts HAZ HOlZ
150, 000 *30H4 4,500
OReloAeUZI| A2S 1,000,000& 12 12,000
02 32%H| 240,000 76,200 163,800
m Al & & H| S XY 240,000
OHAMEBA ALY SAE5
7,500,000 x12& 90,000
OBEBEESAAEY SAE%
3,800,000 x12& 45,600
Of¢e oada)| FANEL
7,200,000& x12& 86,400
ORX N MIJAAX Sdel A
300, 000 *60H 18,000
207 A3 & 37,800 0 37,800
02 & AHJH EHH| 37,800 0 37,800
mH Y RAB4L 22JAIAE 2H
25,000,000 = 14! 25,000
mEXee|0AIAE DE 3 5,000,000& x1Al 5,000
mAHES AZTEYN 2,600,000 34! 7,800
401 Al EHI L 204 HI 190,000 0 190,000
01 Al&H| 190,000 0 190,000
WRO NIHAT FAE oA &F
20,000,000& x2A! 40,000
mES AN L NESAA SHINA
150,000,000 150,000
405 XHA&HF S HI 140,000 338,000 A 198,000
01 XML 2 FF S| 140,000 338,000 A 198,000




2N
X ZH -
L= B

el

5 - 4
M- B (B H) - NSAY - B Ol At o %@ﬁ HRE2
m2ol oIAeZ=I| WA AX
20,000, 000& *=5CH 100,000
mES = O22AAE =2 40,000,000& 14! 40,000
DREES ZED|BHAIAE = 59,787 42 554 17,233
= 13,401
Al 46,386
201 et 59,787 42 554 17,233
= 13,401
Al 46,386
01 AR 22l ] 59,787 42,554 17,233
mAZ? HHE2HMH 2SAHYE  17,714,000& 17,714
2 4,025
Al 13,689
mAZT? HEEBAAL SSEY WH
42,073,000 42,073
2 9,376
Al 32,697
|2 823 B2SI|IEt 24 91,479 88,000 3,479
202 o4 | 1,000 1,000 0
01 2L I 1,000 1,000 0
mAZ SESEBSAAE AR2FX
50,000 x2H x103] 1,000
403 XX SHHMS K201 A 90,479 87,000 3,479
02 BI2S 0 CHSHCHEH AFS I 90,479 87,000 3,479
mAZT? HEEE MARH A 22 90,479
OS=Z2ANIEBINLA A& 90,479,000& 90,479
ey 249 166,000 456,100 A 290,100
201 Bt A H| 66,000 106, 100 A 40,100
01 AR 22l ] 6,000 106, 100 A 100, 100
m] 2Bt 2 H] 6,000
OZHOIX AHIS/ZHQ e
1,000,000% 1,000
OEBHOIN AXH2H B AA 228
5,000,000& 5,000
02 2224 H| 60,000 0 60,000
m Al & & S XYl 60,000
OZHOl X 22| 38,400
OMEZUT S AHA SR 22
1,500,000& x12& 18,000
OZMHOIX 2¢el 1,500,000 x12& 18,000
OE-2EAAH S22 200,000 x12& 2,400
OZMHOIX EotAIAE S X 22
1,800,000& x12& 21,600
207 &I 2l 50,000 350,000 300,000




SN EESAD
H: XL ALB G
Sl ®IAIE P (S &2)
L3
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
01 A& | 50,000 0 50,000
mMEHOIX MOIEE F&HI 54
50,000,000& 50,000
405 RHoHFE S HI 50,000 0 50,000
01 AL 2B F S| 50,000 0 50,000
mMEZHOIX 0l=3 *HE2 /s L4AAX 0K
25,000,000 x2A! 50,000
HETIE 2= 134,767 111,522 23,245
= 11,627
Al 123,140
Y M ZAI L SHI2EAH XA 21,102 22,268 N 1,166
< 11,627
Al 9,475
101 Q124 H] 20,252 21,396 N1,144
& 10,777
Al 9,475
04 JI2ZtHIZ22NEE S 20,252 21,396 N1,144
m2015E ALY AISI ZAF C1AHI (40192 282
ZEH) 20,252,000 20,252
= 10,777
Al 9,475
201 gEt24d| 850 872 A 22
= 850
01 AP 22| d| 850 872 NP2
(m] 2 BE4 2 H| 850
©20158 YA AL AIRE S el
850,000% 850
o= 850
XMl S H A 113,665 89,254 24 411
101 2121 d| 80,765 59,204 21,561
04 JIZtHIZ22XNSES 80,765 59,204 21,561
m] AFS X 2 AF 72,807
Oz &l e 50,7803 x12 x30 1,524
O XA X 282N 50,7803 x5 x30 7,617
OXZAXNE 22|k o182
46,3203 x1H *30L 1,390
o2l A 4R BE&8 = 10,530,000 *10% 1,053
O L MAABAQRA ol2l
46,3203 x6H 252! 6,948
OLHE L HMAUERAA NE - AHEE2
6,948,000 *10% 695
OAMYAHMEA ZAIR E24¢
48,4703 x42% x26 52,930
©2+AH] 5,000& *13%H x 10 650
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A 3E2SA
M NLHEG
el AR (crl ®a)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
w1 = bl 1,000
OFESAUZAMN SR AEF
250,000 »4H 1,000
CIR N a= 6,000
OFESASAN AASHE ZAXEE 2lAaz
500,000& = 12& 6,000
02 =224l 739,968 660, 968 79,000
(] Xt 2+ & EHY| 4,000
OFEESAIZA AIZ2HE FAXNEYE RFHI
250,000 128 3,000
OFEESAIA AIZ2HE FALXE =2l
500,000& *23| 1,000
mE=E2= & HAl 554,968
ONE 3z 327,000
OMgEx, 8L S &3, BAAMNER
33,000 x1003| & =128 39,600
O&AZI|2, Hs AtS A DATA S AEZ
375,000 483 & 128 216,000
O g, NEHY BEALE sEMES
85,000& x103| & =128 10,200
OReQALZI| B3 EMEZ
150,000 343 & 123 61,200
OQHY AEMES 44,400
OZFENESA MER
40,000& +253| & +12& 12,000
ONgs2Y HAY AIE=2
750,000& * 18| & 122 9,000
Ousd, THE, NS CHY AISZ2
32,5003 x208| & x 122 7,800
OU&E, “EIHE, ANEE 0IE2
75,0003 #4383 & 122 3,600
OADIE SZHY HEHLLY) 2=
50,0003 *20CH x12& 12,000
ogerdEs AHER 183,568
Od#Z&st 0182  5,000&1,300CH~12& 78,000
OQIHYUES AIAE (VoIP) Bl =2
7,000,000 12l & +12& 84,000
OAT AL &8 datz
40,0003 53| & 5 1,000
O0lsd3, LEASE AIER
15,000& =40CH 12& 7,200
OfIYdHS AMEZ 25,000& =20 =128 600
Ogeldl sKs oIz
800,000& x13| & *12& 9,600
Os4dTV 0182 6,600 «40CH 122 3,168
CIPNR=RSg=1E=PNR:] 181,000




EX: AEsSA
Mz XA S
el SAEe (ctel:&2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
SEIHIALE(2F L 95, o, SsHA
o) SR 22 10,000, 000 = 1Al 10,000
O3, AttJ|&2 FUHSA d2 A48 A
2l 10,000, 000 =1 Al 10,000
OB EA &EH SXE2%  5,000,000&12& 60,000
OPCIHY! H3 MHI A SXE=
4,000,000 x12& 48,000
OUHUTBAAEY PSS
2,500,000 x12& 30,000
OANEB A2 dATZTZ NS QA B
23,000,000& 23,000
402 SI2HXHE0| & 16,250 132,345 A 116,095
= 2,250
Al 14,000
02 SI2HCH & AL HI 16,250 132,345 A 116,095
msHE 209 It 25 7,500,000 7,500
= 2,250
Al 5,250
m22 2HHY (Wi-Fi)2= 8,750,000& 8,750
HAL BEBEAY 2F 400,000 408,500 A 8,500
405 XHoHFE S HI 400,000 408,500 A 8,500
01 AL 2B F S| 400,000 408,500 A 8,500
MOl U ELES (IPTV)AIAE FATYTAIAL D=
100,000,000 = 1A! 100,000
mAH -5 L AIEA S VPNEOHEH] WA
3,500,000< 204 70,000
MUERAIAEZMAAIAE S2AL
80,000,000 x1A! 80,000
mAH - S2 BEetALAAX WAH 6,000,000 *5H4 30,000
mo=E L AHE AAX X
60,000, 000& =24 120,000
NP ENY FME 94,994 94,994 0
=} 47,497
Al 47,497
201 et d| 94,994 94,994 0
o= 47,497
Al 47,497
02 2%l 94,994 94,994 0]
mEEa22=2 2 MA 94,994
OZINEESEAY 3ldE X 94,994,000 94,994
o= 47,497
Al 47,497
HHSAAHAY (BEEA) 132,340 117,530 14,810
olad 2 A Y| 26,620 26,036 584
ol AY| 26,620 26,036 584




SN ESADY
HH: HH2IAH(FE2SA)
chel: ol gyl CEEEED
SA B ER(EN) - AR - BES of & o4 San HIDZ2
101 @124 H] 26,620 26,036 584
03 RIAHAZ 22 26,620 26,036 584
HuSAR SXJ (=R AZ) 26,620
OJl=z=(1683) 1,286, 190& « 128 15,435
O4dMIDI2S+t=sAETH+RE 2 XH)
1,476, 190& *400% 5,905
OdX=aERIIH=E 52,2502 x19& 993
OEEF It 1,286, 1903 »100% 1,287
(OF= i | 90,000& x12& 1,080
OusE x| 100,000& = 12& 1,200
ONs=+¢ 720
O):[ DN} 40,0002 «1H 12 480
ORSINE 20,000 «1H 128 240
Jl=23dl 105,720 91,494 14,226
Jl=23dHl 105,720 91,494 14,226
201 fEt2E | 31,320 28,044 3,276
01 Al 221 31,320 28,044 3,276
DEEIES=3] 16,200
OJle MRESHI 5,000& »18F x12& 1,080
oOZN2E =ZHl 70,000 x18& 122 15,120
D=k gl 7,000 *18E »10L «12& 15,120
202 Ol 54,000 57,000 23,000
01 S LHOHI 54,000 57,000 23,000
m2UH=Z 200,000 x18H »12& 43,200
m2A=F 50,000& 18 »12& 10,800
203 YR =&Y 4,200 4,200 0
04 BH2HAREAY| 4,200 4,200 0
WEASY SeETY (& 188) 4,200
©15¢1 =1t 302! 0l ot 350,000& »12& 4,200
204 XM FH| 1,200 1,200 0
01 MM SR HY| 1,200 1,200 0
mAE (52 ExII2) 100,000& x1& x 122 1,200
405 TtatFH S 15,000 1,050 13,950
01 A& ESFH SH 15,000 1,050 13,950
AR A S A 15,000, 0003 ~1CH 15,000




